Trigonometric Ratios

In the left column, record the solution set-up for the five questions as discussed in the
activity. Then return to the right column and begin the solution set-up for the unknown
(?) side or angle. Save your work in your ePortfolio. You will return to complete the
solution at a later date.

You do not determine or solve for the unknown value at this time.

Example from the activity: Your turn:
1
_1F 4_7_TAA ’”"""__'fl F
//_/J F t».,_——‘-__-‘—__-_i- ;
- |
1
; e |
¥ g E !
P / - |
/ |
P o |
D‘f-""/éEQ / 24m ? ) i
E* D
solution set-up solution set-up
Lin LY = SindD = Of
) hur
i et . Y €
Sl 99 o 1
5




Example from the activity:
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Example from the activity:

Your turn:
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Example from the activity: Your turn:
Q A 5 m ladder leans 4
against the wall and
rests at a point 4.6
m above the
ground.What is the
? angle between the
ground and the 5 m ladder i
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